OMEAX

Quarter-Turn Pneumatic Actuator

Fig : PA / PAS

Product introduction

B Features

v’ Pivoting angle and adjustment from -5 to 5°.

v’ Large temperature coverage: from -40°C to 160°C.

v’ Corrosion protected thanks to anodized oxygenation applied on aluminium casing.
v Identical size of single and double acting actuators.

M Specification

v Torques : 2,7 to 12853 Nm

v’ Environment temperature : NBR -20°C to 80°C ; FKM -20°C to 160°C; Silicon -40°C to 80°C
v’ Rotation angle : 60° / 90° / 120° / 135° / 180°

v" Air supply : 2 to 10 bars

v’ Standard connection : VDI / VDE 3845 / NAMUR

v’ Flange connection : 1SO 5211

Omeax SARL, 27 avenue Monnot Prolongée, F-71100 Chalon-sur-Saone, FRANCE.

contact@omeax.com http://www.omeax.com
Omeax is not responsible for any possible errors in catalogue, brochures and on website.

This datasheet is subject to change without notice. All right reserved. Page 1



OMEAX

M Part list
NO. Description Qty Material Protection
1 Cylinder 1 Aluminum Alloy Anodized Oxygenation
2 Pinion 1 Carbon steel Nickel Plated
3 Bearing(Lower Pinion) 1 POM
4 O-Ring(Lower Pinion) 1 NBR
5 O-Ring(Top Pinion) 1 NBR
6 Bearing(Top Pinion) 1 POM
7 Spacer 1 Carbon steel phosphatized /galvanized
8 Thrust Bearing Pinion 1 Alloy Steel
9 Thrust Bearing Pinion 1 POM
10 Thrust Washer(Pinion) 1 Stainless Steel
11 Spring Clip 1 Stainless Steel
12 Piston 2 Aluminum Alloy Anodized Oxygenation
13 Guide Ring(Piston) 2 POM
14 O-Ring(Piston) 2 NBR
15 Bearing Ring(Piston) 2 POM
16 Adjusting Screw 2 Stainless Steel
17 Adjusting Nut 2 Stainless Stee
18 Washer(Adjusting Screw) 2 Stainless Steel
19 O-Ring(Adjusting Screw) 2 NBR
20 Plug 2 NBR
. . electrophoresis painted
21 Spring 4~12 Spring Steel Epoxy coated
22 End Cap 2 Aluminum Alloy Epoxy Coated
23 Adjusting Screw(End Cap) 2 Stainless Steel
24 Adjusting Nut(End Cap) 2 Stainless Steel
25 O-Ring(End Cap) 2 NBR
26 Bolts(End Cap) 8 Stainless Steel
27 Indicator 1 Engineering Plastics
28 Nut(Indicator) 1 Engineering Plastics

Note:Viton O-ring for high temperature application,and silicone rubber O-ring for low temperature application.

Omeax SARL, 27 avenue Monnot Prolongée, F-71100 Chalon-sur-Saone, FRANCE.
contact@omeax.com http://www.omeax.com

Omeax is not responsible for any possible errors in catalogue, brochures and on website.
This datasheet is subject to change without notice. All right reserved.

Page 2



OMEAX

B Dimensions

A |~

i
2

£ T A
f

N
S
S

e 0
D D
E LX)
A
Air connection
— H
O
] ®

\' 4-M5X10

] NUMAR
\E j/ NAMUR
Model A B C D E F G H I J K L M N | ®0 | Air
TBNO032 114 46 47 70 23.5 | 235 11 50 25 g%% M5x 8 9 30 G1/8

TBNO52 | 158 | 74 | 60 | 99 | 30 | 41 | 14 | 80 | 30 | 5% | &% | Mex11 | M5x10 | 11 | 40 |G1/4
TBNO63 | 190 | 88 | 69 | 113 | 36 | 45 | 18 | 80 | 30 | &% | &% | M8x15 | Mex12 | 14 | 40 |G1/4
TBNO75 | 206 | 100 | 79 | 125 | 42 | 52 | 20 | 80 | 30 | &% | £ | M8x13 | M6x11 | 14 | 40 |G1/4
TBNO83 | 213 | 109 | 88 | 134 | 46 |525| 20 | 80 | 30 | 590 | &% | M8x15 | Mex12 | 17 | 40 |G1/4
TBN092 | 259 | 120 | 97.5 | 145 | 51 | 575 | 22 | 80 | 30 | 590 | &% | M8x13 | Mex12 | 17 | 40 |G1/4
TBN105 | 284 | 133 |105.5| 158 | 57.5 | 64 | 24 | 80 | 30 | $i% | £%, |M10x18 | M8x14 | 22 | 40 |G1/4
TBN125 | 340 | 155 [120.5| 182 | 67.5 | 70 | 27.5| 80 | 30 |9 | &% |M10x18 | M8x14 | 22 | 65 |G1/4
TBN140 | 414 |[171.5| 137 | 198 | 76 | 77 | 32 | 80 | 30 | $i%5 | &1 | M12x22 |M10x18| 27 | 65 |G1/4

1
TBN160 | 476 | 197 |159.5| 224 | 86.5 | 87.5 | 34 | 80 | 30 | i35 | $i0n | M12x22 | M10x18| 27 | 65 |G1/4
TBN190 | 524 | 230 | 186 | 269 | 103 | 103 | 40 | 130 | 30 | 140 M16x 23 36 | 78 |G1/4
TBN210 | 559 | 255 | 202 | 294 | 113 | 113 | 40 | 130 | 30 | $id M16x 25 36 | 78 |G1/4
TBN240 | 668 | 291 | 233 | 330 | 129 | 129 | 50 | 130 | 30 | o'%s M20x 28 46 | 78 | G35
TBN270 | 744 | 320 | 264 | 359 | 146 | 146 | 57 | 130 | 30 | $i&s M20x 28 46 | 78 | GIB

TBN300 | 830 | 362 |312.5| 402 |194.5(194.5| 57 | 130 | 30 | $32, | &1
TBN350 | 920 | 413 |353.5| 453 |221.5(221.5| 60 | 130 | 30 | $38, | &4
TBN400 | 1012 | 465 | 391 | 505 | 248 | 248 | 60 | 130 | 30 | $32, | &1

8 | M16x24 | M20x28 | 46 | 78 |G1/2
% | M16x24 | M20x28 | 55 | 95 |G1/2
% | M16x24 | M20x28 | 55 | 95 |G1/2

Omeax SARL, 27 avenue Monnot Prolongée, F-71100 Chalon-sur-Saone, FRANCE.

contact@omeax.com http://www.omeax.com

Omeax is not responsible for any possible errors in catalogue, brochures and on website.

This datasheet is subject to change without notice. All right reserved. Page 3



OMEAX

M Output torque for single acting actuator

UnitNm
Qutput Torgue of Alr supply Outoul Torgue of spring
Air pressure (bar) 4 5
Madel | Srma 0° a0° 0 90° 0° 80’ 0 80" 0’ 80" [ 90°
quanity| origin £nd g in £nd Of iy in £nd ofigin £nd orfigin £nd End ofigin
5 7.8 5.3 116 8.9 3.8 6.1
6 7.1 4.2 109 7.8 4.6 7.4
7 6.4 3.2 102 6.7 5.2 8.5
8 9.5 5.7 13.3 9.3 6.0 9.7
— 8.8 4.6 12.6 8.2 6.7 110
10 8.0 3.5 11.9 7.1 15.7 10.7 7.5 122
11 11.1 6.0 15.0 9.6 18.8 13.1 8.3 134
12 10.4 5.0 14.2 8.6 18.1 12.1 2.0 146
5 14.6 9.3 218 15.4 28.7 21.4 6.2 110
6 13.1 7.5 202 13.5 27.3 19.7 7.6 13.1
7 11.6 5.7 188 11.8 25.9 17.8 8.8 153
8 175 10.0 24.5 16.0 31.6 22.1 10.1 176
TBNoBSS —5 16.0 8.2 23.2 14.3 30.3 20.4 11.3 197
10 148 6.4 21.9 12.5 29.0 18.5 36.1 24.6 12.5 219
11 134 4.6 20.5 10.7 27.5 16.8 34.6 228 13.8 241
12 19.1 8.9 26.2 14.9 33.3 21.0 15.0 263
5 22.7 16.0 | 340 26.6 11.3 175
6 20.5 129 | 318 23.4 13.5 210
7 18.1 9.7 295 20.3 15.8 245
8 272 17.1 38.6 27.7 18.1 280
TBNO7SS —9 2489 14.0 36.4 24.6 20.2 315
10 2286 10.8 34.0 21.4 45.4 32.0 56.8 42.6 22.5 350
11 31.7 18.3 43.1 28.8 54.5 39.4 24.8 385
12 29.5 15.1 40.8 25.7 52.3 36.3 27.0 420
5 28.7 208 | 429 34.2 13.8 213
6 26.1 17.2 | 403 30.4 16.5 255
7 23.4 13.3 | 375 26.6 19.3 298
8 348 228 48.9 36.2 22.0 340
TBNOE3S —9 321 18.9 46.2 32.3 24.8 383
10 294 15.1 43.5 28.5 57.7 41.9 71.7 55.2 27.6 425
11 40.8 24.7 55.0 38.1 69.0 51.4 30.3 46.7
12 38.1 20.9 52.3 34.1 66.3 47.5 33.1 51.1
5 43.2 325 | 850 54.2 21.9 327
6 38.9 26.0 | 606 47.7 26.3 392
7 34.5 19.4 | 582 41.1 _ 30.7 458
8 518 34.6 73.5 56.3 35.1 523
TBN0g2S —3 474 | 281 | 691 | 498 395 | 588
10 430 215 64.8 43.3 86.5 65.0 108.2 86.7 43.9 654
11 60.4 36.7 82.1 58.4 103.8 80.2 48.2 719
12 56.0 30.2 77.7 51.9 99.4 73.6 52.8 784
5 64.7 44.2 | 977 74.0 29.9 488
6 58.4 357 | 914 65.5 35.9 5886
7 52.1 27.3 | 852 57.0 41.9 683 |
8 789 48.5 1100 76.5 47.8 78.1
TBN10SS —9 726 | 403 | 1036 | 683 538 | 876
10 664 31.6 97.4 59.6 129.5 88.4 161.4 | 1173 | 598 | 976
11 91.2 51.1 123.2 79.9 155.0 | 1088 | 65.7 | 107.4
12 84.9 42.7 116.8 71.5 1489 | 1004 | 71.7 | 117.1
5 1109 | 458 | 166.8 | 128.7 52.3 834
6 99.5 37.0 | 1554 | 113.4 62.7 | 100.1
7 88.1 28.2 | 144.1 98.2 73.1 116.7
8 132.7 82.9 1886 | 134.2 83.6 | 133.4
TBN125S 3 1212 | 676 | 1772 | 1189 941 | 150.1
10 109.8 52.3 1658 103.6 | 2218 | 1549 104.5 | 166.8
11 1545 88.4 210.4 | 1397 2664 1910 | 1149 | 1835
12 1430 73.0 199.0 | 1243 | 2549 | 1758 |1254 | 200.2
B 166.0 | 1181 | 249.4 | 197.1 79.7 | 125.4
8 149.2 | 943 | 2328 | 1733 95.6 | 1505
7 127.2 | 706 | 2157 | 1496 111.5 | 1756
8 198.9 | 1258 | 2822 | 2048 127.4 | 200.6
TBN140S |3 1821 | 1021 | 2654 | 181.0 143.4 | 2257
10 165.3 78.3 2486 | 157.2 | 3319 | 2382 | 4159 | 3151 [159.3 | 250.8
11 2318 1335 | 3151 | 2124 | 3985 | 2914 |175.2 | 2759
12 2150 109.7 | 2983 | 1886 | 3817 | 2677 |191.2 | 301.0
(] .
Omeax SARL, 27 avenue Monnot Prolongée, F-71100 Chalon-sur-Saone, FRANCE.
contact@omeax.com http://www.omeax.com
Omeax is not responsible for any possible errors in catalogue, brochures and on website.
This datasheet is subject to change without notice. All right reserved. Page 4



OMEAX

Unit:Nm
Oulput Torgue of Air supply Output Torgus of spring

Ai"eﬁlle(m') 4 b
vodel |5Pa|_0 ] 80 | o | e | o [ er | o | s | o | se | o | 80
quantity|“onigin_| end | ongin tnd origin =nd origin =nd origin ) End | origin
5 | 2540 | 1853 | 382.4 | 311.0 1242 | 1918
6 | 2278 | 1468 | 3562 | 2725 7291 | 2302
7 | 201.6 | 108.5]| 330.0 | 234.2 173.9] 2686
TeN160s | 8| 1754 | 718 | 3087 | 1958 | as21 | 3214 198.7 | 3069
G 277.5 | 157.5 | 4059 | 283.1 2236 ] 3453
10 251.3 | 119.1 | 379.7 | 244.8 | 508.0 | 3705 248.4 | 3836
1 3535 | 2064 | 4818 | 3321 | 6102 | 4578 | 2733 2220
12 3273 | 168.1 | 4556 | 2938 | 5840 | 419.4 | 298.1] 4603
5 | 4118 | 288.4 | 6187 | 4823 195.7 | 3007
6 | 370.1 | 229.7 | 577.0 | 4236 234.8 | 3716
7 | 3283 | 171.0| 5352 | 3650 274.0 | 4336
8 2534 | 3063 | 7003 | 5002 313.1] 4955
TBN190S —3 2518 | 247.6 | 658.7 | 441.5 3522 | 5575
10 2100 | 1889 | 6169 | 3820 | 8238 | 576.8 | 10307 | 770.8 | 391.3 | 6194
11 5751 | 3242 | 7820 | 518.1 | 9889 | 7121 | 4305 ] 6813
12 5334 | 265.5 | 740.3 | 459.5 | 947.1 | 653.4 | 469.6 | 7433
5 | 566.0 | 409.8 | 8503 | 6851 2680 | 4209
6 508.6 | 326.5 | 792.9 | 602.4 3227 | 5051
7 | 451.3 | 2432 | 735.6 | 518.6 376.5 | 5893
a 8781 | 4353 | 9624 | 8940 3303 | 6734
TBN210S —5 620.8 | 349.2 | 905.1 | 624.6 484.0 | 760.5
10 5634 | 2688 | 8477 | 5441 | 11319 | 8195 | 1416.2 | 10049 | 537.8 | 841.8
11 7903 | 460.8 | 1074.5 | 736.2 | 1358.8 | 10116 | 591.7 | 926.0
12 7330 | 377.6 | 1017.2 | 653.0 | 1301.5 | 928.3 | 645.3 | 1010.1
5 878 | 656 | 1a1a | 1097 231 | 653
6 788 | 523 | 1229 | 963 518 | 783
7 700 | 380 | 11a1 | &30 803 | 914
8 1052 | 897 | 1483 | 1138 890 | 1045
TBN240S —3 963 S63 | 1404 | 1004 776 | 1175
10 a74 430 | 1315 | 871 | 1756 | 1312 | 2187 | 1753 | @62 | 1306
11 1226 | 738 | 1667 | 1179 | 2108 | 1619 | 948 | 1436
12 1137 | 604 | 1578 | 1045 | 2019 | 1486 | 1034 | 1567
5 1235 | 932 | 1855 | 1559 812 | 918
6 1110 | 743 | 1730 | 1389 735 | 1101
7 984 | 553 | 1605 | 1180 857 | 1285
8 1479 | 930 | 2100 | 1617 a80 | 1469
TBN270S —5 1354 | 801 1974 | 1428 1102 | 1652
10 1324 | 611 1849 | 1238 | 2463 | 1865 | 3088 | 2481 | 1225 | 1836
11 1724 | 1048 | 2344 | 1675 | 29684 | 2302 | 1347 | 2019
12 1500 | 859 | 2219 | 1486 | 2839 | 2112 | 1470 | 2203
5 1521 | 1068 728 | 1143
6 1379 | 885 874 | 1370
7 1237 | 701 | 1983 | 1386 1019 | 1588 |
TBN300s |2 1005 | 515 | 1840 | 1181 | 2585 | 1846 1165 | 1827
9 1697 | 997 | 2442 | 1682 | 3187 | 2326 1311 | 2054
10 1555 | 811 | 2300 | 1476 | 3045 | 2141 | 3790 | 2805 | 1456 | 2284
11 2158 | 1291 | 2903 | 1956 | 3847 | 2621 | 1802 | 2511
12 2015 | 1107 | 2760 | 1771 | 3506 | 2436 | 1748 | 2740
5 | 23ia | 1629 1072 | 1716
6 | 2078 | 1308 1286 | 2059
7 1837 | 988 | 3013 | 2066 1500 | 2402
S 1504 | 684 | 2770 | 1744 | 3946 | 2824 1715 | 2746
9 2528 _| 1423 | 3704 | 2508 | 4879 | 382 1930 | 3088
10 2288 | 1101 | 3464 | 2181 | 4639 | 3260 | 5815 | 4340 | 2143 | 3432
11 3222 | 1858 | 4397 | 2939 | 5573 | 4019 | 2357 | 3774
12 2081 | 1538 | 4155 | 2618 | 5331 | 3698 | 2571 | 4116
5 | 3236 | 2159 1583 | 2718
& | 2944 | 1682 1875 | 3185
7| 2653 | 1252 | 4260 | 2740 2167 | 3651
rBNaoos | E_| 2361 | 840 | soee | zaze | ss7s | aais 2458 | 4119
9 3676 | 1918 | 5283 | 3405 | 6889 | 4892 2750 | 4586
10 3385 | 1507 | 4991 | 2994 | 6598 | 4481 | 8204 | 5967 | 3042 | 5054
11 2698 | 2584 | 6305 | 4071 | 7911 | 5558 | 3335 | 5520
12 2405 | 2175 | 6011 | 3861 | 7620 | 5149 | 3827 | 5987

(]

Omeax SARL, 27 avenue Monnot Prolongée, F-71100 Chalon-sur-Saone, FRANCE.

contact@omeax.com http://www.omeax.com

Omeax is not responsible for any possible errors in catalogue, brochures and on website.
This datasheet is subject to change without notice. All right reserved.

Page 5



OMEAX

B Output torque for double acting actuator

Unit:Nm|
Air pressure (Bar )
Model
2 3 4 5 6 7 8
TBNO32D 27 41 59 T4 88 a8 11.3
TBNOS2D 7.7 1.6 155 193 232 271 31.0
TBNOG3D 138 2.6 275 344 413 482 55.0
TBNO75D 223 337 447 559 67.0 782 893
TBNOS3D 282 42.3 564 705 846 98.7 1129
TBNO92D 432 64.8 865 108.0 129.6 1512 1728
TBN105D 63.1 4.7 127.2 157.8 189.4 22029 2525
TBN125D 108.4 162.7 2169 2711 3253 3795 4338
TBN140D 163.2 2448 326.4 408.0 4896 5712 6528
TBN160D 251.4 377.0 502.7 628.4 7541 8ma7 1005.4
TBN190D 4051 607.7 810.2 10128 12153 1417.9 1620.4
TBN210D 557 835 1113 1392 1670 1948 2227
TBN240D 873 1309 1745 2182 2618 3054 3491
TBN270D 1227 1841 2454 3068 3681 4295 4908
TBN300D 1506 2259 3013 3766 4519 5272 6024
TBN350D 2255 3382 4510 5638 6765 7893 2020
TBN4OOD 3213 4819 6427 8033 9640 11246 12853
- Omeax SARL, 27 avenue Monnot Prolongée, F-71100 Chalon-sur-Saone, FRANCE.
o contact@omeax.com http://www.omea.x.com ' '
Omeax is not responsible for any possible errors in catalogue, brochures and on website.
This datasheet is subject to change without notice. All right reserved. Page 6



OMEAX

B Operation function and direction of rotation

m Double acting

]

r-/

Air from Port A forces the pistons outwards, causing the
springs to compress, the pinion turns counter-dockwise to
open the valve while airis being exhausted from Port B.

m Single acting(FC)

'

= clO))o =

————

At 1s

Air from Port A forces the pistons outwards, causing the
spring to compress, the pinion turns counter-clockwise to
open the valve while air is being exhausted from Port B.

Air from Port B forces the pistons inwards, causing the springs
to compress, the pinion tums clockwise to dose the valve
while air is being exhausted from Port A

In case of air or power disruption, the rebound of springs
forces the pistons inwards, the pinion tums clockwise to
close the valve while airis being exhausted from Port A. Air
from Port B can accelerate the dose of the valve.

Note: 1 Fordouble actng actuator the standand rotaton Isclockwse for dosing and counterclock wisa bropmng.lfmasmbw
diracton of the piston Isreversed, hon he rotaton wil be counter dockwise brclmmg andclockwse

for opening.

2.Forsinge acting actuator, he standard s fall close typel FC),as shown above. ¥ the assembly drocton of the piston is

raversad,hon it will be fallopen type (FO).

Omeax SARL, 27 avenue Monnot Prolongée, F-71100 Chalon-sur-Saone, FRANCE.

contact@omeax.com http://www.omeax.com
Omeax is not responsible for any possible errors in catalogue, brochures and on website.

This datasheet is subject to change without notice. All right reserved.

Page 7



